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Vgen := 10 Ro:= 100  T:= 100-10"?

MW

N1:= 100 dt:= ! N2 := 30-N1
D )\’VVW'_ Nl D
send(INPUT, Vgen) := | Ini < INPUT,
2-Ro-Ini+ Vgen
Ina «
Rg+ Ro
Inr < Ina — Ini
Ina
Inr

point(n) := [m <« mod(n,N1)
M« N1 if m=20

lline := [datap N1 <O
for iel..N2
p < point(i)

INPUT < data®
Ina
[ ] <« send(INPUT, VVgen)
Inr
Ifa
« recv (INPUT)
Ifr
Inr
OUTPUT«
Ifr

data’® « OUTPUT

li < Ina

n=1.N2 tn == (n—1)-dt

Rg:= 1000  RL:= 10

T :=100-10

MW

recv (INPUT) =

7

9

Ifi < INPUTy
2-Ro-Ifi
RL + Ro

Ifr « Ifa — Ifi

()

Ifa «
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(page 1 of this worksheet is a copy of figure 6.2.5 with the value of RL setto 10M Q )

Rg=1x10° Q RL=1x10" Q
T=1x10"' s dt=1x10"2 s
T -9
C= — =1x10 F
%~ Ro
lcap .= |Q«0
for iel..N2
1 Q
Ic —-| Vgen — —
eRg(g 0)
Q <« Q+lcdt
li < Ic
|

Figure 6.3.7 Calculating the transient current in the 1 nF capacitor
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Figure 6.3.8 Response of open-circuited line compared to that of a capacitor



